
New Single Column Sign Standards

Topic Description

The Department is in the process of adopting the 2001 AASHTO Code and the creating new county wind speed maps based on the 
ASCE 7 (05) wind speed map.  The session will review the impacts of the changes and the proposed format of the new single 

column sign Standard Indexes.
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Session 57

New Single 
Column Sign 

Standards

Why New Standards

• Existing Standards Based on 1994 
AASHTO Code

• New Standards Based on 2001 
AASHTO Code and ASCE 7 Wind 
Speed Map
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Wind Speeds

Pressure Equation

PZ = 0.00256 KZ G V2 IR Cd

Where IR =  1.0   (50 yr. Design)
0.80  (25 yr. Design)
0.54 (10 yr. Design)
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Wind Speeds By County

Posts Analyzed

• Round Aluminum

• Steel Square Tube

• Steel Flanged Channel
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Basis of Analysis

Results of Analysis

• Limited Use for Square and Flanged 
Channel Sections

• Standards Will Only Include Round 
Aluminum Post and Aluminum Post 
Details
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Example No. 1

• Orange County

Example No. 1
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• Interstate Shield
Example No. 1

• Interstate Shield

Area = 3.20 sf
Centroid = 14.4/12= 1.20 ft

Example No. 1
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A = (12x0.06) + (3.5/6) = 1.30 ft
B = 7.0 ft     C = 1.20 ft
H = 9.50 ft

Example No. 1

Wind Speed = 130 mph
Area = 3.20 sf
Height = 9.50 ft

Example No. 1
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Example No. 1

Example No. 2
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Example No. 2

• Broward County

Example No. 2
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Example No. 2

72,1172,646Totals

13,35628815+1+24+1+6= 47612 X 24

13,35628815+1+24+1+6= 47612 X 24

Global (yn)Local

2,362.53157.57.515 X 21

20,16072015+1+12= 281224 X 30

20,16072015+1+12= 281224 X 30

2,362.53157.57.515 X 21

(yn)(A)Area
(A)

CentroidSign Size

C = Σ(yn)(A) / Σ(A) = 72,117 / 2,646 = 27.26 in. or 2.27 ft.

Example No. 2
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A = (12x0.06) + (4.5/6) = 1.47 ft
B = 7.0 ft     C = 2.27 ft
H = 10.74 ft

Example No. 2

Wind Speed = 150 mph
Area = 2,646 /144 = 18.38 sf
Height = 10.74 ft

Example No. 2
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Example No. 2

Questions ???


